
PhD Qualifying Exam 
Heat Transfer, Written Exam 

 Problem 1 

An experiment is being conducted in a combustion chamber with visual access through a quartz sight 
glass.  The inner surface (x = 0) of the window receives net radiation from the combustion process as 
a uniform heat flux 𝑞𝑞"𝑜𝑜.  A portion of this, β, is absorbed at the inner surface, while the remaining 
radiation is partially absorbed as it passes through the window.  This leads to volumetric heat 
generation in the window that can be expressed as follows: 

𝑞̇𝑞(𝑥𝑥) = (1 − 𝛽𝛽)𝑞𝑞"𝑜𝑜𝛼𝛼𝑒𝑒−𝛼𝛼𝛼𝛼 

Heat is lost by convection to the ambient from the outer surface (x = L) of the window to ambient air 
at 𝑇𝑇∞, with a convective heat transfer coefficient h.  You may neglect convection at the inner surface 
of the window as well as emission of radiation from that surface. 

a. Develop an expression for the temperature profile in the quartz window in terms of the above 
parameters. 

b. Find the location of the maximum temperature in the window 
c. Sketch qualitatively the variation in temperature across the domain of interest in the problem, 

including the gases inside the chamber and the air outside 
d. Repeat Part c for a case where the same total heat generation occurs uniformly in the window 
e. Repeat Part c for a case where the combustion gas and outer air temperatures are the same, 

but there is no absorption of radiation and the consequent heat generation within the 
window. 

 

 

 

 

 

 

 

 

 

 

 

 

 



Problem 2 

Consider laminar flow of a fluid between two parallel flat plates. At the inlet, the velocity profile is 
known, since it is fully developed, and is given by,  
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where U  is the average velocity and the separation of the plates is H2 . The temperature distribution 
at 0=x  is uniformly at 1T .  

 

 

 

 

 

1. [3 points] Assuming that axial conduction through the fluid is negligible, write down the 
governing differential equations and boundary conditions that would be needed to solve for the 
temperature distribution as a function of x  and y . Assume the two solid walls are at a constant 

temperature HT  for all values of x .  
2. [1 point] Rewrite the energy balance and boundary conditions in non-dimensional form in terms 

of *x *y  and Θ  
3. [5 points] Assuming the solution to the temperature distribution can be written as,  
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and assuming the convective heat transfer is defined based on the average fluid temperature at 

a given location *x , ( )TThq H −= , determine the convective heat transfer coefficient as a 

function of *x  
4. [1 point] Sketch how the heat transfer coefficient will vary as a function of *x  

 

 

 

 

 

 

 



Problem 3 

 

 

A rectangular furnace has diffuse gray walls and top of emissivity 0.1 and reaches a power input of 900W. 
It reaches a steady-state conditions where the heater temperature is 900 oC. The furnace is insulated and 
inside a room at 27 deg C.  

(a) State assumptions for solving this problem 
(b) Develop an equivalent thermal circuit for the radiation exchange 
(c) Calculate the temperature of the oven walls. 
(d) A window which is transparent to a portion of the IR and visible spectrum replaces “Surface 3” of 

the furnace. The spectral transmissivity, emissivity and reflectivity of this window is given in table 
below. Indicate how you would modify the thermal equivalent circuit to estimate the temperature 
of the window under steady-state conditions. 

(e) Approximately how much higher would the input power be to maintain the oven at the same 
operating temperature if the glass pane is thin. 
 
Spectral properties of window are: 
0 < λ < 2.75 um τ = 1     ε = 0        ρ = 0 
2.75 < λ < infinity τ = 0     ε = 0.8     ρ = 0.2 
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